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o= 10,000
X2 1,000,000
SX= 20,000
2% 10,000
2857 300,000
25l 10,000
2= 50,000
=54 200,000
o3 10,000
=5l g 10,000
28580/ 100,000
2273 10,000
23| X} 50,000
O|7hu| 20l H 2l & 10,000
0|7t 30,000
O| 44l 30,000
JFakes 100,000
SFakel 10,000
o|Z 0| 50,000
o|g0| 100,000
o|d= 20,000
0|d= 120,000
0|d= 500,000
o| ol 50,000
0| 40| 10,000
olgzx 35,000
o|4st 50,000
o|gs 20,000
0|43 10,000
OlA= 50,000
(o] piae]] 300,000
ol&= 100,000
0|2 35,000
o|m 100,000
ol 10,000
o7& 10,000
ol2= 10,000
ol2¢ 10,000
=%S 10,000
0|7| &t 20,000
07|18 30,000
0|7|=2 10,000
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o|Lte 20,000
o|LtS 10,000
o|L}3 20,000
ol 300,000
o|cyZ 30,000
olzg 30,000
O| =%t 10,000
=X 30,000
0|2t3 10,000
0| 2H| 10,000
O|2t3| 200,000
=K 10,000
JES 180,000
J=ES 180,000
o|H3] 10,000
E=k] 10,000
O| 2 X} 10,000
o|ojzt 10,000
o|O| Xt 20,000
o|O| Xt 1,000,000
0|0|& 10,000
O[Ozt 10,000
oy 120,000
olalg 30,000
ojolg 10,000
O 2IRH 100,000
EE! 10,000
o= 200,000
WEES 30,000
oy 2,000
O| 2L} 10,000
oz 10,000
0|3 20,000
oA+ 20,000
o|AHDI 10,000
o|M¢ 50,000
o|M¢ 10,000
o| At 30,000
O| AFEI 30,000
O| &t 10,000,000
o| M ™ 50,000
oM™ 20,000
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O| M 10,000
0|43 100,000
o| M= 30,000
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0| A OF 10,000
o[ ot 2,000,000
oM 10,000
ol 50,000
oM 10,000
o=z 10,000
0| M3 10,000
O| ‘gt 10,000
ol gt 30,000
N 10,000
o|ag 10,000
0|A% 500,000
Of==tl 10,000
O|=¢A 10,000
Ol 35,000
Ol 35,000
o] 35,000
0|=3] 50,000
o= 20,000
Ol=d 10,000
Ol&=g 20,000
Ol&=Xt 7,000
ol+=7 30,000
0|5 HEfHH, 01 & 500,000
0|53 10,000
0|53 10,000
0|53 30,000
O|QtLt 300,000
o|¢i= 10,000
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o|d7| 10,000
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o|o| 10,000




30,000
10,000
10,000
10,000
50,000
50,000
10,000
100,000

50,000
20,000
10,000
20,000
20,000

10,000
30,000
800,000

10,000
30,000
20,000
30,000
35,000

5,000
30,000

10,000
10,000
10,000
300,000

20,000
30,000
30,000
20,000
10,000
150,000

20,000
30,000
20,000
20,000
100,000

30,000
20,000
10,000
10,000

d

X
80

ol
80

I
oH

M_.._
oH

EES

nd
oF

okl

R0
OH

ol&

xr

o2

Ol&

ol&

K-
OH

oH

ol

0|20

o210

<
ol




FEIY 7|17 NEE XA 718 Miseg
027 10,000
ol 2% 10,000
o3 10,000
ol 2% 50,000
O] 2X%| 10,000
0|23 20,000
0]23] 500,000
o| el 30,000
o|Qle 50,000
o[ I oK 10,000
Ol = 10,000
O|xH < 30,000
o|xf& 10,000
O| xH 3t 20,000
O|xH= 15,000
O]z = 10,000
ol et 50,000
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ojgal 10,000
ogal 10,000
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o|8= 10,000
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o= 50,000
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o|l¥e& 10,000
ol got 10,000
0|7got 30,000
0| of 10,000
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o1 g% 30,000
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ols & 10,000
ols 2| 10,000
ol&j| ¢ 20,000
o[si| ¥ 10,000
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Mo 10,000
M7|H 10,000
o)y 50,000
Mol7| 50,000
e 642,500
AKX} 10,000
M4 10,000
Maof 100,000
e 10,000
M2y 50,000
Mo 50,000
23| 40,000
ME2 100,000
MEAM 50,000
M| 3 100,000
M| A 10,000
ke 1 50,000
HaE 10,000
M5 Rt 10,000
A Y 20,000
M7|& 30,000
MU 10,000
L 20,000
190,000

20,000

10,000
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2| ot 50,000
HqH= 200,000
Mye 50,000
MoA 100,000
PSfalES 100,000
Molxy 10,000
g3 50,000
AR 300,000
MMA 10,000
X Mo} 20,000
Mol 300,000
"y 10,000
HqEaE 10,000
BMT 30,000
S eI 10,000
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MN&= 100,000
A Lt20] Tl of 10,000
ol 10,000
Mol 100,000
el 10,000
7= 50,000
2= 1,000,000
=734 5,000
z2d 30,000
Z Lol 10,000
EN RS 10,000
R 10,000
ey 100,000
THL 200,000
e 50,000
B 10,000
=40 20,000
ZgH 1,000,000
Z8d 1,000,000
Ea | 2,500,000
Z4A 500,000
Z4A 500,000
ZEH 500,000
zH= 2,000,000
z=ge 20,000
=8N 50,000
2+ 300,000
5 10,000
=5 10,000
Z&=Xt 20,000
Zedd 50,000
TUA 50,000
=g0| 20,000
=g0| 10,000
= 50,000
Z ARt 10,000
9= 10,000
TER 100,000
= 30,000
Z{2 20,000
z24 20,000
T2M 10,000
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5,345,000
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FEIY 7|17 NEE XA 718 Miseg
FtECHY Y| 10,000
FtECHE Y| 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty) 10,000
FhEChaty| 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 35,000
FHECHE | 10,000
FhEChaty) 10,000
FhEChaty| 10,000
FhEChaty| 35,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 35,000
FhEChaty| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 35,000
FhEChaty| 35,000
FtECHY Y| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 10,000
FhEChaty| 10,000
FhEChaty| 35,000




FEIY 7|17 NEE XA 718 Miseg
FtECHY Y| 35,000
FtECHE Y| 10,000
FHECHE | 35,000
FHECHE | 35,000
FhEChaty) 35,000
FhEChaty| 35,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty) 10,000
FhEChaty| 35,000
FhEChaty| 35,000
A=t 35,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 50,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 35,000
FhEChaty) 35,000
FhEChaty| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 35,000
FhEChaty| 35,000
FtECHY Y| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
FhEChaty| 35,000
FhEChaty| 35,000




FEIY 7|17 NEE XA 718 Miseg
FtECHY Y| 35,000
FtECHE Y| 35,000
FHECHE | 35,000
FHECHE | 35,000
FhEChaty) 35,000
FhEChaty| 35,000
FtECHY Y| 35,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty) 10,000
FhEChaty| 10,000
FhEChaty| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 35,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FhEChaty| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty| 10,000
FtECHY Y| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
FhEChaty| 35,000
FhEChaty| 35,000




FEIY 7|17 NEE XA 718 Miseg
FtECHY Y| 10,000
FtECHE Y| 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty) 35,000
FhEChaty| 35,000
FtECHY Y| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
FhEChaty) 35,000
FhEChaty| 35,000
FhEChaty| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 35,000
FhEChaty) 35,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FhEChaty| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 35,000
== =15] 35,000
FhEChaty| 10,000
FtECHY Y| 35,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty| 10,000
FhEChaty| 10,000




FEIY 7|17 NEE XA 718 Miseg
FtECHY Y| 10,000
FtECHE Y| 35,000
FHECHE | 35,000
FHECHE | 35,000
FhEChaty) 35,000
FhEChaty| 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty) 10,000
FhEChaty| 35,000
FhEChaty| 35,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 3,500
FhEChaty) 3,500
FtECHY Y| 3,500
A=t 3,500
FHECHE | 3,500
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 35,000
FhEChaty) 35,000
FhEChaty| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 35,000
FhEChaty| 35,000
FtECHY Y| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 50,000
FhEChaty| 50,000
FhEChaty| 50,000




10,000
10,000
10,000
10,000

3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
35,000
35,000
35,000
35,000
35,000
35,000




FEIY 7|17 NEE XA 718 Miseg
FtECHY Y| 35,000
FtECHE Y| 35,000
FHECHE | 35,000
FHECHE | 35,000
FhEChaty) 35,000
FhEChaty| 35,000
FtECHY Y| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
FhEChaty) 35,000
FhEChaty| 35,000
FtECHY Y| 35,000
A=t 35,000
FHECHE | 35,000
A== =Tyl 35,000
== =15] 35,000
FhEChaty) 35,000
FtECHY Y| 35,000
A=t 35,000
FHECHE | 35,000
FHECHE | 35,000
== =15] 50,000
FhEChaty) 50,000
FtECHY Y| 50,000
A=t 50,000
FHECHE | 50,000
FHECHE | 50,000
== =15] 50,000
FhEChaty) 50,000
FhEChaty| 50,000
A=t 50,000
FHECHE | 50,000
FHECHE | 3,500
== =15] 3,500
FhEChaty| 3,500
FhEChaty| 3,500
FhEChaty| 3,500
FhE 7| 3,500
FHECHE | 3,500
FhEChaty| 3,500
FhEChaty| 3,500




3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500




3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500




3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000
10,000




FEIY 7|17 NEE XA 718 Miseg
FtECHY Y| 10,000
FtECHE Y| 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty) 10,000
FhEChaty| 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty) 10,000
FhEChaty| 10,000
FhEChaty| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty) 10,000
FhEChaty| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
== =15] 10,000
FhEChaty| 10,000
FtECHY Y| 10,000
A=t 10,000
FHECHE | 10,000
FHECHE | 10,000
FhEChaty| 10,000
FhEChaty| 10,000




10,000
10,000
10,000
10,000
10,000
35,000
35,000
35,000
35,000
35,000
50,000
50,000

3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
3,500
10,000
10,000
10,000
35,000
35,000
35,000
35,000
35,000
35,000
35,000
35,000
700,000
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B £ H| = 0| 3t 9 2,000,000
fra= 30,000
HEIM 10,000
o7l 30,000
stas 10,000
sta 0t 30,000
sto|xl 30,000
stA= 10,000
55 30,000
S X| =t 50,000
SHX| =t 100,000
SHE (Ef D) 250,000
=t 20,000
[ela=n= 20,000
shajoFz 50,000
o= K= 20,000
sto| 2t 10,000
ShALR 10,000
AR 30,000
St = 10,000
SEM A 10,000
St 3| 10,000
St 50,000
S| 50,000
St S 10,000
st O| 100,000
SHol4 30,000
S 3| 10,000
I b= 10,000
oha et 50,000
oha gt 10,000
o T 100,000
sty 3| 500,000
5143 50,000
& CHd| 10,000
sojA 100,000
S 100,000
S| x| 10,000
[l 20,000
e 10,000
S| A 5,000
&Y= 20,000
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